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s T8 &% X 35 BESH & BEEHIWES BEEITER
1 —4A=AX514 20152 86. 500 S RES
2 —4AaAX 263 2015%% 85. 500 +1{E
3 —4=A\X 535 20152 85. 250 +4E
4 —4AX 220 2015%% 85. 500 S ES
5 — A 119 2015%% 83. 750 H o8
6 T A=AX 204 2015%% 83. 500 L
7 —45AIX 551 20152 83. 250 H o
8 —4=AX 560 20152 82. 500 g
9 —A=AX 209 20152 81. 500 5
10 —4=A[X 555 2015%% 81. 500 H9%
11 T A=AIX 239 20152 81. 250 g
12 —4A\X 563 2015%% 81. 000 L
13 — 47X 235 2015%% 80. 500 H o
14 T A=AX 245 2015%% 80. 000 L
15 — 45X 260 20152 80. 000 g
16 —4AX 223 2015%% 79. 500 B
17 —45AX 108 2015%% 79. 000 T 7
18 T AAX 137 2015%% 78. 500 H 9%
19 T A=AIX 138 20152 78. 500 g

20 —4=AX 135 2015%% 78. 250 H%
21 —4=\X 564 2015%% 78. 250 H o
22 TAEAX1T 2015%% 78. 000 L
23 —4AX 527 2015%% 77.975 H o8
24 —$#=AIX 557 2015%% 77.834 [ER
25 —4AX 149 2015%% 77.501 H 58
26 —AAX 107 20152 77. 500 g
27 —EEAIX 253 2015%% 77. 500 [EEE
28 47X 259 2015%% 77. 250 H%
29 —4AX 152 20152 76. 750 H o
30 —4=AX 553 2015%% 76. 750 L
31 —EFAIX 249 2015%% 76. 500 [EEE
32 —4=AX 151 2015%% 76. 250 L
33 —AAIX 251 2015%% 76. 250 [EEE
34 . 4A=AIX 548 20152 76. 250 g
35 T A=AX 254 20152 76. 250 g
36 —AAX 132 2015%% 76. 000 H 9%
37 —4=AX 130 20152 76. 000 H o8
38 —4=AX516 2015%% 76. 000 L
39 — 45X 215 2015%% 76. 000 H o8
40 T A=AX 246 2015%% 75. 750 L
41 —45AIX 537 20152 75. 750 H o
42 —EEAX 233 2015%% 75. 500 [EEE
43 T A=AX 264 20152 75. 500 g
44 —4AX 201 2015%% 75. 250 H 9%




45 . 4A=AX 533 20152 75. 250 g
46 TAAX 243 20152 75. 250 g
47 —4aAX 262 2015%% 75. 166 H 9%
48 L 4A=A[X 445 20162 88. 750 RES
49 —4>B[X 540 2016%% 87. 250 +4E
50 —4=AX 357 20162 86. 750 +4
51 T A=AIX 343 20164% 86. 667 S ES
52 — 45X 446 20162 86. 000 +42
53 —4AX 308 20162 86. 000 +42
54 T A=AX 337 20162 85. 750 S RES
55 —4B[X 421 20164% 85. 750 +4E
56 —4B[X 660 20162 85. 250 +42
57 FEEBIX 117 2016%% 85. 500 +1
58 —4>B[X 544 20162 85. 250 +4E
59 T A=AX 462 20162% 85. 250 SES
60 F.45BIX 101 20162% 85. 250 +42
61 —4=AX 306 20164% 84. 000 L
62 —45AX 450 20162 83. 750 H o
63 —A=AX 304 20162 83. 000 g
64 T A=AX 463 20162 82. 750 g
65 —AaAX 323 20164% 82. 500 EEE
66 —4xB[X 424 20162 81. 750 H o8
67 —4=AX 460 20162 81. 750 L
68 458X 143 20162% 81. 750 H o8
69 . 4=B[X 545 20164% 81. 500 L
70 — 45X 348 20162 81. 500 H 58
71 —4=BIX416 20162 81. 500 g
72 L A=AX 449 20162 81. 000 g
73 —4=AX 309 20164% 80. 625 H 9%
74 TAEAX 447 20162 80. 125 g
75 —4=AX 344 20164% 80. 000 H%
76 —4B[X 423 20162 80. 000 H o
77 L 4A=AX 305 20162% 80. 000 L
78 —45AIX 316 20162 79. 750 g
79 —4AIX 339 20162 79. 500 B
80 —4>B[X 426 20162 79. 333 T 7
81 T AAX 312 20164% 79. 250 H 9%
82 T A=AX 464 20162 78. 833 g
83 47X 349 20164% 78. 750 H%
84 X313 20162 78. 500 H o
85 TA=AX 321 20162% 78. 250 L
86 —4EAIX 347 20162 78. 250 H o8
87 T 4A=AX 345 20164% 77. 750 KL
88 —45AX 353 20162 77. 750 H o
89 —4=B[X 459 20162 77. 750 g
90 —4=A[X 435 20162 77. 125 g
91 47X 362 20164% 77. 000 H%
92 —4=A\[X 456 20162 77. 000 H 5
93 —4=B[X 408 20164% 76. 750 L
94 —4BIX 412 20162 76. 750 H 58




95 T ABIX 427 20162 76. 750 g
96 A=A X 364 20162% 76. 670 H 5
97 —4=AX 350 20164% 76. 667 H 9%
98 TAAX 317 20162 76. 500 g
99 —4=AX 338 2016%% 76. 500 H%
100 F.45B[X 107 20162% 76. 250 H o
101 T 4A=AX 319 20164% 76. 125 L
102 —45AX 334 20162 76. 000 H 58
103 —4AX 360 20162 76. 000 B
104 —4A=A[X 459 20162 76. 000 g
105 F.55BIX 129 20162 75. 750 EEE
106 T A=AIX 453 20162 75. 750 g
107 —4=AX 340 20164% 75. 750 H%
108 F45BX 131 20162% 75.525 H o
109 T A=AX 329 20162% 75. 500 H%
110 —45AX 333 20162 75. 500 H 5
111 FHABX 112 20164% 75. 500 L
112 F.45BIX 119 20162% 75. 500 H 58
113 —A=AX 324 20162 75. 250 g
114 —A=AX 311 20162 75. 250 g
115 —4=AX 351 20164% 75. 250 EEE
116 —4aAX 457 20162 75. 125 H o
117 —4>B[X 345 20174% 93. 000 +1{E
118 —4BIX 347 20172 92. 250 +42
119 = 4=AX 140 20174% 87. 250 +43
120 —45AX 425 20172 85. 500 +42
121 —A=AX 415 201724 85. 250 BRES
122 X4 20172% 85. 250 S RES
123 —4B[X 303 20174% 85. 250 +1{E
124 . 4>BIX 648 20174 87. 250 RES
125 —4B[X 657 20174% 87. 250 +1{E
126 —4AX 429 20172 84. 250 H o
127 . 4=BIX 646 20174% 83. 750 H%
128 —4B[X 659 20172 83. 250 H 58
129 AKX 124 20172 83. 000 B
130 —4=BIX 244 2017%% 82. 750 =g
131 A 421 20174% 81. 750 H 9%
132 —4=BIX 304 20174% 81. 500 H 5
133 —4=AX 405 2017%% 81. 500 H%
134 —4=AX 404 20172 81. 500 H o
135 —4=BIX615 20174% 81. 250 L
136 —4B[X 650 20172 81. 083 H o8
137 —4=BIX 301 20174% 81. 000 KL
138 —4BIX514 20172 80. 750 H 58
139 —4=B[X 340 201724 80. 250 g
140 —4=BIX 326 20172% 80. 000 H 58
141 —4>B[X 634 20174% 80. 000 H%
142 —4=AX 430 20172 79. 250 H 5
143 TAEAX 41T 20174% 79. 000 L
144 X423 20172 78. 500 H 58




145 . 4=BIX 654 201724 78. 350 g
146 —4BIX 319 2017%% 78. 250 g
147 —4=AX 408 20174% 78. 000 H 9%
148 —A=AX 401 20174 77.750 g
149 —4>B[X 360 20174% 77. 750 H%
150 —4>B[X 355 20172 77. 500 H o
151 . 4=B[X 339 20174% 77. 250 H%
152 45X 428 20172 77. 166 H 58
153 —4BIX651 20174% 76. 500 B
154 —4=BIX 316 2017 76. 500 g
155 —4AaAX 407 20174% 76. 500 H 9%
156 —4BIX 337 20172 76. 500 H 58
157 —4>B[X 206 20174% 76. 500 H%
158 T AEAX 427 20172 76. 500 H o
159 —4=BIX 630 20174% 76. 500 H%
160 —4BIX 312 20172 76. 250 H 5
161 T 4=BIX 317 20174% 76. 250 L
162 —4AX 406 20172% 76. 150 H 58
163 —4=BIX 649 201724 76. 000 g
164 T 4=BIX 327 20172% 76. 000 g
165 —4B[X 313 20174% 75. 750 EEE
166 —4>B[X 329 20172 75. 750 H o
167 —4A\X 426 20174% 75. 750 H9%
168 —4BIX 627 20172 75. 750 H o8
169 TAEAX 412 20174% 75. 625 L
170 —45B[X 334 20174% 75. 500 H 58
171 —4=BIX 645 201724 75. 500 g
172 —45BIX 655 20172 75. 500 H 58
173 —.4>B[X 656 20174% 75. 500 H 9%
174 —4=BIX 620 20174 75. 500 g
175 —4=AX 424 2017%% 75. 500 H%
176 —4>B[X 362 20172 75. 250 H o
177 . 4=BX 332 20174% 75. 250 L
178 —45B[X 338 20172 75. 250 H 58




